1. John weighs 37.4 kqg.
Round his weight to the nearest kilogram.

37.4

37.4 is less than halfway
J between 37 and 38.
A It is rounded to 37.
37 38
John’s weight is kg when rounded to the

nearest kilogram.

2. Atreeis 5.78 m tall.

. . 5.78 is more than
Round its height to the

halfway between 5 and

nearest meter. 6. It is rounded to 6.
5.78
I ' J —
5 6
The height of the tree is m when rounded

to the nearest meter.

3. Round 24.5 to the nearest whole number.

245
l 24.5 is halfway between 24
o and 25. We take 25 to be the
' ' ' nearest whole number.
24 25
245 is when rounded to the

nearest whole number.

29



